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1. (B8+K+H) FGEMATRER
= (1,300 E+200 E+500 & ) *20%
=400 8

2. (B+X) hGEMTRE
= (1,300 E+500 & ) *20%
=360 8

3. (8) FIfBEMmIiER
=1,300 E*20%
=260 8
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=400 E-360 &
=40 <50 8...... 40 B
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=360 E-260 &
=100 B>50&..... 550 &
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=400 B-40 B-50 &
=310 8
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9,000 & * 30%/90% = 3,000 &
QRAER :
(12,000 & +6,000 & ) * 30%/100% = 2,400 &
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3,000 #-2,400 & =600 &
3.111 &£ 10 B 1 HES 60%M& 1% :
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9,000 & * 60%/90% = 6,000 &
QBAER :

(2,000 & +6,000 B ) * 60%/100% = 4,800 &5
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6,000 2-4,800 B =1,200 8
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$HIEF7%E = ( 8,400,000/1.05 ) *5%-+5,000,000 * 0 = 400,000
EOEYEZER =50,000%5% = 2,500
#EIETR%E = [(12,600,000+210,000)/1.05]*5%+40,000*5%+2,500

=610,000+2,000+2,500
=614,500
400,000-614,500 = -214,500......... TR ER

13RI PREE = 5,000,000*5% = 250,000>214,500

FEIRTREE = 214,500
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= 300,000/(300,000+300,000+300,000)

=33%
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LU ASREAEZ LM IREREE
= TIFDESE 30 155 1 BREAS T HMIRE-RIRBEIRE
= 3,000 B7T-2,800 BT
=200 &7

23R IR ERE R
= [(REFRPHBEIRBE-RG/HASTLHMIRE) /I PRBEREBEFEZ L HRELHF*EMLT
BB
=[ (3,600 &5-3,000 & ) /(3,600 5-2,800 )]*160 &
= [600 E5/800 E] *160 &
=120 &

3URIBR LR BARER R 2 BRER
= R EBRE-RA-HEERER-UASTSRESEZ T MIRERHER
= 3,600 #7T-2,800 E7T-120 #7T-200 E T
=480 BT
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9. HEMH

=30,000,000*0.746215=22,386,450

10. EERH
=40,000,000*0.746215=29,848,600
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